05—CURRENT TACOMA ACCESS CAB

=—=O0WENS/
Z Pr Inc. DRILLING INTO VEHICLE IS REQUIRED

3-31-09 IN387

|TOOLS REQUIRED: 5/16" DRILL * 1/2” HEX SOCKET * 1/2” WRENCH * 5/16” NUT DRIVER * 3/8” NUT DRIVER

BRACKET PLACEMENT:
THE OTHER TWO BRACKETS EVENLY SPACED OUT TO SUPPORT THE

BOARD.

PLACE ONE BRACKET IN THE CENTER AND THE

BRACKET ASSEMBLY
ASSEMBLE WITH 5/16” BOLTS

S5

O

@
@

©)

DRILL A 5/16" HOLE IN PINCH WELD AT EACH LOCATION
ATTACH WITH 5/16” BOLT & NUT IN PINCH WELD

USE 3/4” LONG SELF DRILLING SCREW TO UNDER BODY
PLACE THE BRACKET TO THE BACK SIDE OF THE PINCH WELD

BODY
C—
#" BOLT & NUT j \< $14 \J" SELF DRILL SCREW
FRAME
\\\ z = B

MOUNT AT LOCATION SHOWN AT @




%WENS 05—CURRENT TACOMA ACCESS CAB 3-31-09 IN387

DRILLING INTO VEHICLE IS REQUIRED

@ ®

PROCEED TO STEP 7 IF PLASTIC BOARDS ARE
TO BE INSTALLED.

T g¥
/
V4
HOLD THE BOARD IN PLACE WITH IT
RESTING ON THE BRACKETS.
» » BE SURE THAT THE 1/4" BOLTS ARE PLACED
SLIDE ONE 1/4 X 5/8
SQUARE HEAD SCREWS INTO THE SLOTS IN THE BRACKET STEP SUPPORT

INTO EACH TRACK
FOR EACH BRACKET.

@ @ FOR PLASTIC BOARDS, APPLY FOAM

TAPE AND STEP TREAD TO BOARD.
ATTACH THE BOARD TO THE BRACKETS
WITH SELF DRILLING SCREWS.

BODY DO NOT DRILL THROUGH LIP OF BOARD INTO BODY
= BODY
FRAME| FpaM TaPE Z S
— (—
NG | O ol

~— FRAME

Kll_ | ] I

SECURE BOARD TO BRACKET O O -

WITH 1/4" NUTS 1\ é |

\4— #14 X 3" SELF DRILL SCREW

WITH BOARD LEVEL TIGHTEN
ANY LOOSE BOLTS REPEAT FOR OTHER SIDE

OWENS PRODUCTS*1107 PROGRESS STREET*STURGIS, MI 49091*269—651—2300*TOLL—FREE: 800—726—9367*FAX:269—-651 9326 www.owensproducts.com




	IN387 1.pdf
	IN387 2

